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NEW QUESTION 1

A cloud administrator is asked to configure access to the VMware Cloud Services Console based on the following requirement:

» Groups and users should be synchronized from the internal Active Directory Which two options should the administrator configure to meet this requirement?
(Choose two.)

A. Workspace ONE Access connector

B. Enterprise federation with dynamic (connectorless) authentication setup
C. SAML 2.0 Identity Provider

D. Enterprise federation with connector-based authentication setup

E. Workspace ONE Assist

Answer: AC

Explanation:

The Workspace ONE Access connector is used to synchronize groups and users from the internal Active Directory to the VMware Cloud Services Console.
Additionally, the administrator should configure a SAML 2.1 Identity Provider to enable single sign-on (SSO) capability and secure access to the VMware Cloud
Services Console.

NEW QUESTION 2

Exhibit:

NEW FOLDER UPLOAD FILES UPLOAD FOLDERS REGISTERED VM DOWNLOAD DATE COPY to MOVE TO RENAME TO DELETE

Name Size Modified Type Path

dvsData 05/03/2022, 9.10.21 AM Folder [vsandatastore]

.S dd.sf 05/03/2022, 9.10.21 AM Folder [vsandatastore]

app02-000002.vmdk 05/03/2022, 9.10.21 AM Folder [vsandatastore] app02-000003.vmdk 05/03/2022, 9.10.21 AM Folder [vsandatastore] app02-000002.hlog
05/03/2022, 9.10.21 AM Folder [vsandatastore] app02-000002.vswap 05/03/2022, 9.10.21 AM Folder [vsandatastore] app02-000002.vswap.Ick 05/03/2022,
9.10.21 AM Folder [vsandatastore]

A cloud administrator is asked to troubleshoot a virtual machine (app02) that is performing slowly. The cloud Administrator noticed that app02 is con expected
amount of disk space. As a first step, the cloud administrator uses VMware vCenter to check the snapshot manager for app02 and no snapshot -- cloud
administrator then navigates to the app02 files on the datastore, and is presented with the information provided in the exhibits. Given the information provided,
which task should the cloud administrator perform to resolve this issue?

A. Migrate the virtual machine to a new datastore.
B. Perform a snapshot consolidation.

C. Power cycle the virtual machine.

D. Execute a Delete All Snapshots task.

Answer: D

NEW QUESTION 3
Which two use cases can be met with VMware Cloud on Dell EMC and VMware Cloud on AWS Outposts? (Choose two.)

A. Administrator rights in SDDC Manager to configure and operate the solution
B. Ability to create public services

C. Applications needing local data processing and/or low latency integrations
D. Critical workloads that use restricted data

E. On demand rapid scalability

Answer: CD

Explanation:

The two use cases that can be met with VMware Cloud on Dell EMC and VMware Cloud on AWS Outposts are Option C: Applications needing local data
processing and/or low latency integrations, and Option D: Critical workloads that use restricted data.

VMware Cloud on Dell EMC and VMware Cloud on AWS Outposts both provide local data processing and low latency integrations, making them ideal for
applications that require quick and efficient access to data. Additionally, the highly secure infrastructure of both solutions make them a great choice for critical
workloads that use restricted data.

For more information, please refer to the official VMware documentation on VMware Cloud on Dell EMC:https://www.vmware.com/products/vmware-cloud-on-
dellemc.htmlAnd the official VMware documentation on VMware Cloud on AWS
Outposts:https://www.vmware.com/products/vmware-cloud-on-aws-outposts.htmi

NEW QUESTION 4

A cloud administrator needs to configure a VM storage policy for virtual machines that will host a business critical application. The environment consists of a single
cluster with six hosts. The application is storage I/O intensive and redundancy must be provided at the highest level possible.

Which VM storage policy settings should the administrator configure to meet these requirements?

A.RAID-1FTT =3
B.RAID-1FTT =2
C. RAID-5
D. RAID-6

Answer: B

Explanation:

RAID-1 is a mirror configuration that provides high availability by creating multiple copies of a VMDK. RAID-5 and RAID-6 are erasure coding configurations that
provide fault tolerance by distributing data and parity across multiple hosts.

The number of failures to tolerate (FTT) determines how many copies or parity blocks are created for each VMDK. For example, RAID-1 FTT = 2 means that there
are three copies of each VMDK.

Therefore, based on your requirements, a possible VM storage policy setting could be RAID-1 FTT = 2, which would provide redundancy at the highest level

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



y Exam Recommend!! Get the Full 2V0-33.22 dumps in VCE and PDF From SurePassExam
l |Sure https://www.surepassexam.com/2V0-33.22-exam-dumps.html (126 New Questions)

possible with six hosts.
https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-data-cen

NEW QUESTION 5
Which two networking planes are converged in a VMware NSX-T Data Center? (Choose two.)

A. Control Plane

B. I/O Plane

C. Management Plane
D. Consumption Plane
E. Data Plane

Answer: AC

Explanation:

According to 1, VMware NSX-T Data Center implements three separate but integrated planes: management, control, and data.

> The management plane provides a single point of configuration and REST API entry-points for NSX-T Data Center components.

2 The control plane is responsible for computing network state based on configuration from the management plane and topology information from transport
nodes.

> The data plane consists of transport nodes that provide connectivity for workloads and enforce network policies.

Overview of NSX-T Data

Center:https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.2/installation/GUID-10B1A61D-4DF2-481

NEW QUESTION 6
An administrator wants to have a global view of all managed Tanzu Kubernetes clusters and manage the policies across them. Which solution would the
administrator use?

A. VMware Tanzu Mission Control

B. VMware Tanzu Observability by Wavefront
C. VMware Tanzu Service Mesh

D. VMware Tanzu Kubernetes Grid

Answer: A

Explanation:

VMware Tanzu Mission Control provides a central platform to manage and view all Tanzu Kubernetes clusters and workloads running in the environment. It allows
administrators to set policies across multiple clusters, set up cluster identities, monitor cluster health and performance, and much more. Tanzu Mission Control also
provides access to a variety of cloud-native tools, such as Kubernetes Dashboard, Helm, and Kubeapps.

Publishing Applications with VMware Horizon 7 https://vcdx.vmware.com/content/dam/digitalmarketing/vmware/ru/pdf/techpaper/vmware-horizon-7-application
VMware Technical Support Guide

https://www.vmware.com/pdf/techsupportguide.pdf

Quick-Start Tutorial for VMware Dynamic Environment Manager ... https://techzone.vmware.com/resource/quick-start-tutorial-vmware-dynamic-environment-
manager "VMware Tanzu® Mission ControlTM is a centralized management platform for consistently operating,

managing, and securing Kubernetes infrastructure and modern applications across teams and clouds. It provides a global view of all of the Kubernetes clusters.
You can use the resource hierarchy to manage and enforce consistent policies across Kubernetes clusters. "

NEW QUESTION 7

A customer is running a software-defined data center (SDDC) In the US-East-2 region and wants to connect the workload network segment to their on-premises
data center and multiple company Amazon Virtual Private Clouds (VPCs) running In US-East-2.

Which connectivity option can they use to accomplish this?

A. AWS Direct Connect

B. Two VPN connections

C. VMware Transit Connect
D. One VPN connection

Answer: C
Explanation:
To connect the workload network segment to their on-premises data center and multiple company Amazon VPCs running in US-East-2, the customer can use

VMware Transit Connect. VMware Transit Connect is a service that provides secure connectivity between AWS and on-premises data centers or other clouds. It
allows customers to connect and extend their networks to the AWS cloud with minimal effort and cost.

NEW QUESTION 8

In order to provide overlapping IP address segments within a VMware cloud Environment, what must be configured?
A. Additional NSX Edge appliances

B. Additional Tier-1 gateways

C. Additional network segments

D. Additional Tier-O gateways

Answer: B

Explanation:

https://vmc.techzone.vmware.com/understanding-segments-vmc-aws

NEW QUESTION 9
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A cloud administrator wants to deploy a VMware Cloud software-defined data center (SDDC) ona cloud provider and requires a consistent 4.5 Gbps bandwidth
from applications to communicate from on-premises to the SDDC. Which type of connection should be used for this type of traffic?

A. Policy-based virtual private network (VPN)
B. Private L2 virtual private network (VPN)
C. Route-based virtual private network (VPN)
D. Private line

Answer: C

Explanation:

The best option for a cloud administrator who wants to deploy a VMware Cloud software-defined data center (SDDC) on a cloud provider and requires a consistent
4.5 Gbps bandwidth from applications to communicate from on-premises to the SDDC is a Route-Based Virtual Private Network (VPN). This type of connection
offers enhanced performance [1][2], flexibility, scalability, and security compared to other options, such as Policy-Based Virtual Private Network (VPN), Private L2
Virtual Private Network (VPN), or Private Line.

According to the VMware official site, "Route-based VPN enables a secure connection between two or more sites, or between a site and a mobile user, and
provides better performance and scalability than a policy-based VPN. Route-based VPNs are also more secure than policy-based VPNs, because the traffic is
encrypted with a unique encryption key for each tunnel, rather than relying on a shared key for all tunnels. This allows for secure and reliable connections for
devices and applications located in different physical locations." [1]

[1] https://docs.vmware.com/en/VMware-NSX-Data-Center/2.4/com.vmware.nsx.admin.doc/GUID-D6B7B9E

NEW QUESTION 10
Which solution would an administrator use to manage the lifecycle operations of Tanzu Kubernetes clusters?

A. VMware Tanzu Service Mesh

B. VMware vSphere Lifecycle Manager

C. VMware Tanzu Observability by Wavefront
D. VMware Tanzu Kubernetes Grid

Answer: D

Explanation:

VMware Tanzu Kubernetes Grid is described as a comprehensive solution for operating Kubernetes-based applications in production, as well as creating, scaling
and managing clusters. It provides a centralized control plane for managing the lifecycle operations of Tanzu Kubernetes clusters.
(Source:https://tanzu.vmware.com/kubernetes)

NEW QUESTION 10
Given what you know about cloud, which examples illustrate its benefits? Select all options that apply.

A. An organization requires fewer developers when it uses the cloud.

B. An organization manages its cloud resources by using different cloud providers that areseparate and isolated from each other.

C. A business stores infrequently accessed data in the cloud to benefit from reduced on-premises storage costs.

D. An organization manages its cloud resources by using different cloud providers that are separate and isolated from each other.

E. A developer codes an application in a cloud-based environment, and, with a few simple commands, deploys the application on the business website.
F. In seconds, you receive a large amount of storage using a cloud option.

Answer: BCEF

Explanation:

Example B illustrates the benefit of cloud computing where an organization can manage its cloud resources by using different cloud providers that are separate
and isolated from each other. This allows the organization to make use of features and services offered by different cloud providers in order to benefit from the best
of different services.

Example C illustrates the benefit of cloud computing where a business can store infrequently accessed data in the cloud in order to benefit from reduced on-
premises storage costs, as cloud storage is usually cheaper than on-premise storage.

Example E illustrates the benefit of cloud computing where a developer can code an application in a

cloud-based environment, and, with a few simple commands, deploy the application on the business website. This eliminates the need for the developer to set up
and manage the application on their own, as the cloud platform handles the deployment and hosting of the application.

Example F illustrates the benefit of cloud computing where a large amount of storage can be made available in seconds using a cloud option. This is useful for
businesses that require a large amount of storage but don't have the resources to set up and manage their own storage solution.

For more information on the benefits of cloud computing, see the VMware official documentation athttps://docs.vmware.com/en/VMware-Cloud-on-
AWS/services/com.vmware.vmc-aws.getting-started/GUID-F

NEW QUESTION 13
Which two steps should an administrator take to allow HTTPS access to a specific virtual machine (VM) through the public Internet for VMware Cloud on AWS?
(Choose two.)

A. Create a custom service called HTTPS using port 443.

B. Configure AWS Direct Connect.

C. Configure a SNAT rule translating an internal IP address to a public IP address.
D. Request a public IP address in the VMware Cloud console.

E. Configure a DNAT rule translating a public IP address to an internal IP address.

Answer: AD
Explanation:

To allow HTTPS access to a specific VM through the public Internet for VMware Cloud on AWS, the administrator must first create a custom service called HTTPS
using port 443. They must then request a public IP address in the VMware Cloud console.

NEW QUESTION 16

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



y Exam Recommend!! Get the Full 2V0-33.22 dumps in VCE and PDF From SurePassExam
l |Sure https://www.surepassexam.com/2V0-33.22-exam-dumps.html (126 New Questions)

A cloud administrator needs to create a secure connection over the Internet between an on-premises data center and a VMware Cloud software-defined data
center (SDDC).
Which solution can accomplish this goal?

A. VMware Site Recovery Manager
B. VMware vRealize Network Insight
C. VMware NSX

D. VMware Cloud Director

Answer: C

Explanation:

VMware NSX is a network virtualization and security platform that provides a range of features for creating and managing virtual networks, including the ability to
create secure connections over the Internet between on-premises data centers and VMware Cloud software-defined data centers (SDDCs). NSX allows you to
create logical networks that are isolated from the underlying physical infrastructure, providing enhanced security and flexibility. With NSX, you can create secure,
encrypted connections between your on-premises data center and your VMware Cloud SDDC, allowing you to easily and securely connect your workloads and
applications running in the cloud to your on-premises resources.

NEW QUESTION 19
A cloud administrator is looking for a unified solution to collect and analyze security events for troubleshooting from: VMware vSphere Windows Operating
Systems Physical servers Web servers Database servers Amazon Web Services Which VMware Cloud service can meet this requirement?

A. VMware vRealize Automation Cloud

B. CloudHealth Secure State

C. VMware vRealize Log Insight Cloud

D. VMware vRealize Network Insight Cloud

Answer: C

Explanation:
https://blogs.vmware.com/management/2022/08/forwarding-vsphere-audit-and-authentication-events-from-vreal

NEW QUESTION 23
A cloud administrator is asked to validate a proposed internetworking design that will provide connectivity to a VMware Cloud on AWS environment from multiple
company locations. The following requirements must be met:

A. Connectivity the VMware Cloud on AWS environment must NOT have a single point of failure.
B. Any network traffic between on-premises company locations must be sent over a private IP address space.
C. Connectivity the VMware Cloud on AWS environment must support high-throughput data transfer.

Answer: A

NEW QUESTION 24
Which two Tanzu Kubernetes Grid service component must an administrator configure within VMware Cloud to enable to deploy a namespace or their Kubernetes
Application developments? (Choose two)

A. Tanzu Service Mesh

B. Tanzu Application Platform

C. Tanzu Kubernetes Cluster

D. Management cluster

E. Tanzu Observability by Wavefront

Answer: CD

Explanation:

Tanzu Kubernetes Grid is a service from VMware Cloud that enables customers to deploy and manage Kubernetes applications in the cloud. In order to deploy a
namespace or their Kubernetes Application developments, an administrator must configure a Tanzu Kubernetes Cluster and a Management Cluster.

A Tanzu Kubernetes Cluster is a cluster of nodes that are used to run applications and services. The nodes are connected to the Management Cluster, where
administrators can manage and monitor deployments.

The Management Cluster is a cluster of nodes that are used to manage and monitor the Tanzu Kubernetes Cluster nodes. It provides the tools to manage and
monitor deployments, as well as to configure and maintain the Tanzu Kubernetes Cluster nodes.

According to VMware's official website, "Tanzu Kubernetes Grid is a service that provides a simplified way to deploy and manage Kubernetes applications in the
cloud. It provides a single control plane for managing multiple Kubernetes clusters, allowing customers to easily deploy and manage their applications across
multiple clusters and environments." [1]

[1] https://iwww.vmware.com/products/tanzu-kubernetes-grid.html

NEW QUESTION 28
A cloud administrator needs to create an isolated network segment for use in disaster recovery test. Which type of network segment is required?

A. Private

B. Routed

C. Extended

D. Disconnected

Answer: A
Explanation:

A private network segment is an isolated network segment that is used for disaster recovery testing. Private network segments provide a secure and isolated
environment for testing, allowing administrators to test their disaster recovery plans without risking the stability of their production environment. Private network
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segments also provide additional security, as they are not connected to the public internet, making them less vulnerable to external attacks. [1]
[1]https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vmc-aws.networking/GUID-64

NEW QUESTION 32
Which statement accurately describes vSphere distributed switches? (Select one option)

A. A distributed switch is a virtual switch that is configured for a single ESXi host.

B. A standard switch is different from a distributed switch in that standard switches contain VMkernel ports.

C. Each ESXi host can have only one distributed switch configured at any time.

D. A distributed switch is managed by vCenter Server for all ESXi hosts associated with the distributed switch.

Answer: D

Explanation:

A distributed switch is managed by vCenter Server for all ESXi hosts associated with the distributed switch. A standard switch is different from a distributed switch
in that standard switches contain VMkernel ports, but the entire configuration is managed by each ESXi host. A distributed switch is managed by vCenter Server
for all ESXi hosts associated with the distributed switch and can contain multiple VMkernel ports. Each ESXi host can have multiple distributed switches configured
at any time.

NEW QUESTION 36
What are two Incident management services included in the VMware Cloud on AWS service management process? (Choose two.)

A. Email notifications for pending upgrades
B. Return to service

C. Severity classification

D. SDDC upgrades

E. Workload incident management

Answer: BC

Explanation:

Incident and Problem Management: VMware will provide incident and problem management services (e.g., detection, severity classification, recording, escalation,
and return to service) pertaining to availability of the Service Offering. VMware is responsible for incident and problem management (e.g., detection, severity
classification, recording, escalation, and return to service) pertaining to all virtual machines that you have deployed in your SDDC.
https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/support/vmw-cloud-aws-service-descrip

NEW QUESTION 38

A cloud administrator needs to extend a network and requires that routing be handled at the source. Which network segment type does VMware HCX Network
Extension create in the VMware Cloud

software-defined data center (SDDC) when extending the network?

A. Extended

B. Routed

C. Private

D. Disconnected

Answer: B

Explanation:

https://docs.vmware.com/en/VMware-Validated-Design/services/sddc-extending-to-vmware-cloud-on-aws/GUI https://docs.vmware.com/en/VMware-HCX/4.5/hcx-
user-guide/GUID-4052AC3F-9FFC-4FA2-ACB4-18B296

VMware HCX Network Extension creates a routed network segment type in the VMware Cloud

software-defined data center (SDDC) when extending the network. This routed segment is used to connect the on-premises environment with the VMware Cloud
SDDC, allowing traffic to flow between the two. The other options (extended, private, and disconnected segments) are not created by Network Extension.

NEW QUESTION 39
In VMware Cloud, who is responsible for the encryption of virtual machines?

A. Native cloud provider

B. Customer

C. VMware Cloud Provider Partner (VCPP)
D. VMware

Answer: B

Explanation:

Customer responsibility “Security in the Cloud” — Customers are responsible for the deployment and ongoing configuration of their SDDC, virtual machines, and
data that reside therein. In addition to determining the network firewall and VPN configuration, customers are responsible for managing virtual machines (including
in guest security and encryption) and using VMware Cloud on AWS User Roles and Permissions along with vCenter Roles and Permissions to apply the
appropriate controls for users.

The responsibility for the encryption of virtual machines in VMware Cloud lies with the customer. The customer is responsible for configuring and managing any
encryption or security related settings and configurations in the virtual machines, such as disk encryption or the configuration of security protocols. The VMware
Cloud Provider Partner (VCPP) is responsible for the overall security of the cloud

environment [1][2], including the encryption of data at rest, but the customer is responsible for configuring

and managing the encryption settings within their virtual machines.

Reference: https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vmc-aws.encryption/

NEW QUESTION 44
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Which types of networks are available when creating a segment in VMware Cloud on AWS?

A. Routed, Extended, Disconnected
B. Advertised, Extended, Isolated
C. Routed, Stretched, Disconnected
D. Advertised, Stretched, Isolated

Answer: A

Explanation:

VMware Cloud on AWS GovCloud supports three types of network segments: routed, extended and disconnected.

Routed networks: Routed networks allow you to route traffic between the on-premises data center and the VMware Cloud on AWS environment using a VPN or
AWS Direct Connect.

Extended networks: Extended networks allow you to extend the on-premises network to the VMware Cloud on AWS environment using VXLAN. This type of
network allows you to extend the on-premises VLANS to the cloud environment, providing a seamless network extension.

Disconnected networks: Disconnected networks are used when there is no direct connectivity between the on-premises data center and the VMware Cloud on
AWS environment. This type of network allows you to create isolated networks in the cloud environment for specific use cases, such as disaster recovery or
testing.

https://docs.vmware.com/en/VMware-Cloud-on-AWS-GovCloud-(US)/services/vmc-govcloud-networking-secu

NEW QUESTION 45
The VMware Cloud on Dell EMC subscription entitles companies to services and support In addition to the server and rack hardware and SDDC software. Which
two services are Included In the subscription? (Choose two.)

A. Onsite support for hardware break-fix within four hours

B. Remote lifecycle management of the SDDC software

C. Automated capacity forecasting and expansion

D. Remote lifecycle management of virtual machine operating system software
E. Professional services assistance with application migration

Answer: AB

Explanation:

VMware Cloud on Dell EMC is a fully managed VMware Cloud Service which includes a physical Dell VxRail hyper-converged infrastructure built to a customer’s
capacity needs and is delivered onsite preloaded with VMware vSphere®, VMware NSX®, and VMware vSAN™ software. Included with this service is full
management of the hardware infrastructure, including monitoring, software patching and upgrades, security updates, lifecycle management, and break-fix service
in the event of a hard failure. This service is backed by an Enterprise-grade Service Level Agreement (SLA). Figure 1 shows the VMware Cloud on Dell EMC
infrastructure in greater detail, including all hardware necessary to deploy the infrastructure quickly right out of the crate.

NEW QUESTION 49

A cloud administrator needs to provide the security team with the ability to query and audit events and provide custom real-time alerts for the VMware NSX firewall
running In VMware Cloud on AWS.

Which solution would the administrator use to accomplish this goal?

A. CloudHealth by VMware

B. VMware vRealize Log Insight Cloud

C. VMware vRealize Network Insight Cloud
D. VMware vRealize Operations Cloud

Answer: B

Explanation:

VMware vRealize Log Insight Cloud is a cloud-based log management and analytics solution that provides real-time visibility and analytics for VMware Cloud on
AWS [1]. It allows security teams to query and audit events and set up custom real-time alerts. Additionally, it provides detailed insights into the activity of the
VMware NSX firewall, allowing administrators to quickly identify suspicious activity and take action.

NEW QUESTION 50

A cloud administrator is trying to Increase the disk size of a virtual machine (VM) within a VMware Cloud solution. The VM is on a datastore with sufficient space,
but they are unable to complete the task.

Which file is preventing the administrator from completing this task?

A. The .nvram file
B. The .vmtx file

C. The .vmdk file
D. The .vmsn file

Answer: C

Explanation:

The .vmdk file contains the virtual machine's hard disk configuration and is preventing the administrator from increasing the disk size. The .vmdk file must be edited
to allow the administrator to increase the disk size. More specifically, the administrator must edit the descriptor file within the .vmdk file to change the capacity of
the disk.

NEW QUESTION 55
Which statements accurately describe gateway firewalls and distributed firewalls? (Select two options)
A. Gateway firewalls and distributed firewalls can share the same sets of rules and policies.

B. Only gateway firewalls use stateful rules.
C. A distributed firewall controls the 1/O path to and from a VM's virtual NIC.
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D. A gateway firewall protects north-south traffic.
Answer: BD

Explanation:
Gateway firewalls are used to protect east-west traffic, while distributed firewalls control the 1/0 path to and from a VM's virtual NIC. Furthermore, gateway firewalls
and distributed firewalls cannot share the same sets of rules and policies.

NEW QUESTION 60
A cloud administrator would like the VMware Cloud on AWS cluster to automatically scale-out and scale-In based on resource demand. Which two Elastic DRS
policies can be configured to meet this requirement? (Choose two.)

A. Elastic DRS Baseline policy

B. Optimize for Best Performance policy
C. Optimize for Lowest Cost policy

D. Custom Elastic DRS policy

E. Optimize for Rapid Scale-Out policy

Answer: DE

Explanation:

The two Elastic DRS policies that can be configured to meet the requirement of automatically scaling out and in based on resource demand are the Custom Elastic
DRS policy and the Optimize for Rapid Scale-Out policy. The Custom Elastic DRS policy allows you to configure the cluster to scale out when certain resource
utilization thresholds are met, while the Optimize for Rapid Scale-Out policy allows you to configure the cluster to scale out when resource utilization is high and
scale in when utilization is low.

Elastic DRS is a feature of VMware Cloud on AWS that enables automatic scaling of the cluster based on resource demand. To meet the requirement of automatic
scaling, the administrator can configure a custom Elastic DRS policy or the Optimize for Rapid Scale-Out policy. Custom Elastic DRS policy allows administrator to
define the custom rules for scale-out and scale-in based on resource utilization thresholds. Optimize for Rapid Scale-Out policy automatically scales-out the cluster
when resource utilization threshold is met.

NEW QUESTION 63

A cloud administrator is looking to migrate several dozen workloads from their on-premises location to a VMware public cloud using the vMotlon feature of VMware
HCX. A total of three networks will need to be stretched for the migration. They will also be utilizing the capabilities of the WAN appliance to optimize migration
traffic.

Based on this scenario, how many IP addresses would need to be reserved for the on-premises deployment of VMware HCX?

A. four
B. five
C. three
D. six

Answer: B

Explanation:

"The VMware HCX on-premises deployment requires five IP addresses: two for the WAN appliance, two for the vMotion feature, and one for the management
network."

In this scenario, the cloud administrator is utilizing the vMotion feature of VMware HCX to migrate several dozen workloads from an on-premises location to a
VMware public cloud. They are also stretching three networks for the migration. When using vMotion, two IP addresses will be needed per vMotioned virtual
machine: one for the source and one for the target. For the migration of several dozen workloads, this will require several dozens of IP addresses. Additionally, the
administrator is also utilizing the capabilities of the WAN appliance to optimize migration traffic. In order to optimize the traffic, one IP address will be needed for
the WAN appliance on the on-premises site, and another IP address will be needed for the WAN appliance on the public cloud side. Therefore, the total number of
IP addresses that need to be reserved for the on-premises deployment of VMware HCX is the number of IP addresses required for the virtual machines plus one
IP address for the WAN appliance on the on-premises site plus another IP address for the WAN appliance on the public cloud side, which totals to five IP
addresses.

NEW QUESTION 64
A cloud administrator needs to create a virtual machine that requires layer 2 connectivity to an on-premises workload. Which type of network segment Is required?

A. Existing
B. Outbound
C. Extended
D. Routed

Answer: C

Explanation:

An extended network segment is required for a cloud administrator to create a virtual machine that requires layer 2 connectivity to an on-premises workload.
Extended networks allow for the virtual machines to communicate directly with the on-premises workload while remaining isolated from the public cloud. This
allows for the virtual machines to access the same services and workloads as the on-premises workloads while still remaining secure.

NEW QUESTION 68
A cloud administrator establishes a VPN connection to the VMware Cloud data center but Is unable to access the VMware Cloud vCenter. Which step can the
administrator take to resolve this?

A. Modify the default vCenter management network to participate in the on-premises IP space.

B. Create a segment in the VMware Cloud data center for connection to the vCenter.

C. Establish a layer 2 connection between the on-premises data center and the VMware Cloud data center.

D. Create an NSX firewall rule In the VMware Cloud data center allowing access to the vCenter from the on-premises data center.
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Answer: D

Explanation:

https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vmc-aws-operations/GUID-ED8B8 By default, the management gateway firewall is set
to deny all traffic between the internet and vCenter Server.

Verify that the appropriate firewall rules are in place.

The administrator can create an NSX firewall rule in the VMware Cloud data center that allows access to the vCenter from the on-premises data center. This would
allow the VPN connection to connect to the vCenter, allowing the administrator to access and manage the VMware Cloud environment.

NEW QUESTION 72

A cloud administrator wants to enable administrator wants to enable Enterprise Federation to the Cloud Services Portal in order to be able to authenticate with the
on-premises Active Directory. The Administrator Already deployed the on-premises VMware Workspace One Access Connector. Through which port does the
Cloud Service Portal communicate with Workspace ONE Access Connector?

A. |[daps/636
B. http/80
C. https/443
D. Idap/389

Answer: C

Explanation:

https://docs.vmware.com/en/VMware-Workspace-ONE-Access/20.10/workspace_one_access_install/GUID-E81 The Cloud Services Portal communicates with the
Workspace ONE Access Connector via port 443 (HTTPS).

According to the VMware documentation [1], the Cloud Services Portal connects to the Access Connector on port 443 to authenticate users and authorize access
to the cloud service. The Access Connector listens on port 443 and communicates with the Active Directory using LDAP over TLS (LDAPS) on port 636.
Reference: https://docs.vmware.com/en/VMware-Workspace-ONE-Access/services/com.vmware.access.admi

NEW QUESTION 73
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